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Ideals for irreducible component#ﬂ)f Xpar

=W —u® b+ 2u, v -+ Fa—2, w20+ 3u—1)
IY=(b+1, —u®+a—u, u* +u®+u®>+1)

* 2 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I.

It = (u?"—u® 4. -+ b+2u, u—u?*+.--4a—2, u?*—2u*®+... 4+ 3u—1)
(i) Arc colorings
1
as
aip = ( )
—uP 4wt 4+ —3u+2
az = \ —27 4420 4 .. —|—2u2—2u
1
a6 == u
—u?T +u 4 —du 43
a4: 27+u26+ +u2_u
—uT — 23
ar = \u"+u+2u +u
—u — 23
a1 = \ —% — " —3u® — 2% —u
u? — 3w+ —8u+4
a3 = \ —y28 — 2" 4 ... —6ud —u?
u
ag = ud +u
(u5+u +u>
ub +u
w +ud+2ud +u
u® +u
ag = u7+u5+2u3+u
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u?® + 442" — 19025 + 14u?5 — 67u?* 4 43u?3 — 162u?% + 82u?! —

— 481u® + 10067 — 60716 4 2015 —
— 34202 — 172u® — 265u7 — 9218 —

317u? + 116u'?
304ut — 3100

122u°

600u!* —
—65u*

158ult3 — 488u12 —
— 240 — 2902 +du —7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq u? —5u® 4+ —Bu+1
C2 u? +9u® + .+ 13u+1
c3,Ce u? —u®® 4+ 8u+ 16
c5, Co w2+ +3u+1
¢ u? +2u% £ 4 3ud1
cg, €10, C11 u?® -8+ +3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 Y =9y . 413y — 1
C2 y? F2ry® 4 — 111y — 1
€3, Cg y® +27y* ... — 2752y — 256
¢s5,Co y +8yB 4 43y —1
cr y® 3242 413y — 1
€8, €10, C11 y?? +28y% -+ 123y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.231265 4 1.0464201
a = —1.57334 — 1.282541
b= 0.858634 + 0.9594401

7.61033 — 0.105091

1.75140 — 0.821307

u = —0.231265 — 1.0464201
—1.57334 + 1.282541
0.858634 — 0.9594401

7.61033 + 0.105091

1.75140 + 0.821301

—0.312663 + 1.0453901
—0.10596 + 2.527911
1.014760 — 0.8907791

7.11886 + 6.679951

0.53493 — 6.078241

—0.312663 — 1.0453901
—0.10596 — 2.527911
1.014760 + 0.8907791

7.11886 — 6.679951

0.53493 + 6.078241

0.822501 + 0.7304931
0.512567 — 0.4800501
0.633017 + 0.9158251

0.636180 — 0.6890361

—3.76307 + 1.944231

0.822501 — 0.7304931
0.512567 + 0.4800501
0.633017 — 0.9158251

0.636180 + 0.6890361

—3.76307 — 1.944231

0.194951 + 0.8489461
0.90551 + 1.743981
—0.405971 — 0.4668031

1.06975 — 1.850931

1.30743 + 5.799681

0.194951 — 0.8489461
0.90551 — 1.743981
—0.405971 + 0.4668031

1.06975 + 1.850931

1.30743 — 5.799681

0.450225 + 0.7414171
0.877674 — 0.5010971
0.282831 + 0.2208961

—0.03811 — 1.729191

—0.45461 + 4.607841

0.450225 — 0.7414171
0.877674 + 0.5010971

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a=
b= 0.282831 — 0.2208961

—0.03811 + 1.729191

—0.45461 — 4.607841




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.788076 + 0.8373791
= 0.263911 + 0.5562431
—0.840182 — 0.6028811

—4.79824 + 0.508051

—6.89911 — 0.013091

—0.788076 — 0.8373791
0.263911 — 0.5562431
—0.840182 + 0.6028811

—4.79824 — 0.508051

—6.89911 + 0.013091

0.882629 + 0.7763021
0.523074 + 0.3001801
1.103310 — 0.7720411

—0.78075 + 5.577851

—5.50657 — 2.770901

0.882629 — 0.7763021
= 0.523074 — 0.3001801
1.103310 + 0.7720411

—0.78075 — 5.577851

—5.50657 + 2.770901

0.784724 + 0.8860821
—1.19979 + 1.011671
—1.337190 — 0.029086.1

—6.30586 — 2.951511

—5.76823 + 2.649391

0.784724 — 0.8860821
—1.19979 — 1.011671
—1.337190 + 0.0290861

—6.30586 + 2.951511

—5.76823 — 2.649391

—0.767855 + 0.9267851
—0.44228 — 1.686321
—0.771267 4 0.6606631

—4.52351 + 5.353151

—5.93805 — 5.667101

—0.767855 — 0.9267851
—0.44228 4 1.686321
—0.771267 — 0.660663.1

—4.52351 — 5.353151

—5.93805 + 5.667101

0.750471 + 0.9944801
—0.996828 4 0.026809.1
0.648434 — 1.0044801

1.43095 — 5.202611

—2.56531 + 3.251161

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

0.750471 — 0.9944801
—0.996828 — 0.0268091
0.648434 + 1.0044801

1.43095 + 5.202611

—2.56531 — 3.251161




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.866458 + 0.9165531
a= 0.906367 + 0.4165121
b= 10.675975 — 0.0216051

—7.73749 + 3.209541

—0.41591 — 2.869571

u = —0.866458 — 0.9165531
a= 0.906367 — 0.4165121
b= 10.675975 + 0.0216051

—7.73749 — 3.209541

—0.41591 + 2.869571

u = —0.719374 + 0.0709121
a= 0.523981 — 0.3690511
b= 0.914734 4 0.838366.1

3.96205 — 3.128391

—4.70122 4 2.585171

u = —0.719374 — 0.0709121
a= 0.523981 + 0.3690511
b= 10.914734 — 0.8383661

3.96205 + 3.128391

—4.70122 — 2.585171

u=0.793942 + 1.0041101
a= 1.14222 —1.863841
1.130840 + 0.7993071

—0.06814 — 11.797401

—4.44971 + 7.378981

u= 0.793942 — 1.0041101
1.14222 + 1.863841
1.130840 — 0.7993071

—0.06814 4 11.797401

—4.44971 — 7.378981

u = —0.146225 + 0.6492471
a= 0.11069 — 2.173751
b= —1.073810 + 0.1429001

—1.181700 4 0.7739211

—1.52981 + 2.724771

u = —0.146225 — 0.6492471
a= 0.11069 + 2.173751
b= —1.073810 — 0.1429001

—1.181700 — 0.7739211

—1.52981 — 2.724771

u = 0.304949
a= 110441
b= —0.668226

—1.01334

—10.2040




IL I =(b+1, —u?+a—u, u* +u®+u?+1)

(i) Arc colorings

0
aio = \u
u2—|—u
ag = —1
1
aﬁ— u2
u? +u+1
aq = —1
1
ar = u?
-1
ay = 0
wHu+1l
asz = -1
U
ag = \ud+u
uB
a1 = \d+u?+1
uw?+1
ag = u?

(ii) Obstruction class =1

(iii) Cusp Shapes = 5u? + 6u — 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ (u—1)*
C2,C4 (u+1)*
cs3,Cg u?
cs S IR S B
€7, €10, C11 ut —ud +3u® —2u+1
cs ut +ud 4 3u? +2u + 1
€ ut —ud 4 u? 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y—1)*
€3, Ce y4
cs, Co v+t 32 241
‘37708’2? y* +5y° + Tyt + 2y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

0.351808 + 0.7203421

= —0.043315 + 1.227190] | —1.43393 — 1.415101 | —6.86477 4 6.856271
= —1.00000

= 0.351808 — 0.7203421
= —0.043315 — 1.227190] | —1.43393 + 1.415101 | —6.86477 — 6.856271

= —0.851808 + 0.911292]

= —0.956685 — 0.6412001 | —8.43568 + 3.163961 | —12.63523 — 2.294711
= —1.00000

= —0.851808 — 0.9112921

= —0.956685 + 0.6412001 | —8.43568 — 3.163961 | —12.63523 + 2.294711

U
a
b
U
a
b = —1.00000
U
a
b
U
a
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

“ (u— 1" —5u® 4+ —bu+1)
€2 (w4 1" (1 +9u®® + - + 13u + 1)

c3,Ce ut(u® —u® 4 -+ 8u + 16)
C4 (u+ D)MW =50 + - = 5u+1)
€5 (u +u® +u? + 1)(u® + 20+ 4+ 3u+ 1)
7 (u* —u +3u® = 2u+ 1) (u® + 20 + -+ 3u+1)
s (u* +u +3u® +2u+1)(u® —8u®® + -+ 3u+1)
€ (u* —ud +u? + 1) (u® +2u® + - +3u+1)

€10, €11 (ut —u® +3u® — 2u+1)(u® — 8u® + -+ + 3u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,¢4 (y=D)HE* —9y* +-- +13y — 1)
€2 (y = D> +27y* + - =111y — 1)
¢3,Co v (y? 27y + - — 2752y — 256)
cs, 0o (W' +9° +3y> + 2y + 1) (> + 8™ +- -+ 3y — 1)
c1 (' +59° + 79> + 2y + 1)(y* - 320" +--- + 3y — 1)
g8, €10, C11 (y* +59° + 7y* + 2y + 1)(y* +28y*° + - + 123y — 1)
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